Multiplying Two Binomials (F)

Simplify each expression.

(=2m?* —m)(—3m?* — 4m)

0. (=5x® — 42%) (22 + 2)

(=2m? — 3m?)(2m* + 9m)

W

1 (4d° — 5dM)(2d° + 2d)

(m + 6)(—9m® — 6m?)

Ot

6. (40° + Tvh)(20° + 8vt)

7. (=72 4 52°) (22" — 22%)

8. (50 — n?)(—=9n° — 2n*)

0. (62 + 62°)(62* + 72%)

10. (=5¢* = 7¢*)(6¢° + 4c?)
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Multiplying Two Binomials (F) Answers

Simplify each expression.

(=2m* — m)(—3m? — 4m)
— 6m* + 11m?® + 4m?

(=52° — 42?)(2x + 2)
— —102* — 1823 — 822

o

5. (—=2m® — 3m?)(2m® + 9m)
= —4m® — 24m* — 2Tm?

- (4d° — 5d*)(2d° + 2d*)
= 84" — 24" — 104°

t

(m + 6)(—9m® — 6m?)
= —9m* — 60m?> — 36m>

(407 4 o) (20° + 8uv?)
= 800 + 460" + 560°

o))

-~

(=72 + 5a®) (22" — 22°)
= —142% + 2427 — 1045

8. (5n® — n?)(—9n® — 2n*)
= —45n® —n” + 2n°

(@)

9. (62 + 623) (62" + 7903)
= 362" + 78z + 424"

10. (=5¢* = 7¢*)(6¢° + 4c?)
= —30¢” — 62¢% — 28¢°
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